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kgf 9.80N _ 1IN = 1/9.80 kgf = 0.102 Kf
1N cm=0.102 kgf cm
AN/mm?= 0.102 kgf/mm? = 10.2 kgf/cm?

/
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Pa

1Pa= IN/m*> - IN/mm? 1x 10°%Pa 1MPa

Sl

G

1G = 9.80665 10

/

10N 1 kgf

K =10 M =10° G
c =10% m =10°

10kN 1tf 1IMN 100 tf

IN/mm*=1MPa  10kgf/lcm® 1kN/mm® 1GPa

10N cm
10kN m

1kgf cm 10N m 10°N cm 1kN cm
1tf m

=10°
=10°

10" kgf/cm?
0.1tf cm



fc = 30N/mm?=30MPa 300 kgf/cm?
ft = 2.2N/mm?=2.2MPa 22 kgf/cm?
Ec=28kN/mm? 28GPa 2.8x 10° kgf/cm?

SD345 fy = 345 N/mm?=345 MPa

SD35 fy = 3500 kgf/cm?
Es= 200kN/mm?  200GPa
s=2.1x 10° kgf/cm?



M|

N=[kg] [m/s’] kgf=[kgf /m] [M/s?]
2
kg kgf s/m
(
1kgf /m=9.8kg
(1/9.8)kgf s /m=1kg
IN=1kg(SI ) 1m/s* lkgf=1kg(SI )
(9.8m/sY)
1kgf=9.8N
1tonf=9.8x 10°N
kgf/m
N/m (kg/m,
9.8N/m=1kgf/m
c _cC
k 2vkm
2
Pa(Pascal)=N/n? kgf/m
(kg/m”,

1

2.

f.=30N/mm’=30MPa  300kgf/cm?

f
E=
(SD345)

=2.2N/mm?*=2.2MPa  22kgf/cm?
28kN/mm?=28GPa  2.8x10°kgf/cm?

f,=324N/mm?=345M Pa (=3500kgf/cm’)

(SD345)

E=200kN/mm?=200GPa (=2.1x10°kgf/cm?)

J(Joule)=N m

kgf/m

9.2J=1kgf m

W(Wat)=J/s

| kgf m/s

9.8W=1kgf m/s

O,

1kgf
1kgf/m
T(s)




